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1 | mogxo [ JicdTidEd Bz ko k.

(Do<a<Z, % < B<m cosa= % sinf = %%?%7179“200)%&, BEEZD., ZDE X,
sin2a=1[ 7 |, tanla—B) =[] 1 |, sinQa+pB) = LR,

(2) BAP(x) %222 —3x+2TE2L 12r —5RY, 22 —x—2TE2 L 2r+1564R%. ZDe %, P(x)
Er—1TH->72RDIX T, 22— 1 THSRVIE [ A |+ Thb.

(L 1,2 2 3 4 5OTHOKTTRTEM LIRS L, WAKZLWT [ F | MBI THZ. €0

56, WHOBTEH3 & 4 & 25 WAHIE Y, 3 &AM LA 2{EH S &> BN
WY THB.

(4) AB=3, BC=+13, CA=4Ths =fil ABCIzB\CT, AB= b, AC= ¢, /BAC=0¢5X<.
ZorE, 0% JET, WFE b - ¢ Offilk THd. £/, LBAC D% ¥ 30 BC DK

2D, ZABABCONDEELTHE%, AD=[ v |b+[ % |Jc, AE=[ 2 |b+[ 7V ]c
LRES.




